007677

621001

June 15, 2021

Project No:

Invoice No:



Mr. Stacy Slawinski, PE

County Engineer

Fort Bend County

Engineering Department

1517 Eugene Heimann Circle

Richmond, TX 77469

Fort Bend County Mobility 2017 Project Management

P.O. No.: 163936, Date: March 27, 2018

Proj Management Services Project No.: 1700, Amount: \$1,000,000.00

Amendment No. 1 Amount: \$187,000.00 Amendment No. 2 Amount: \$310,000.00 Amendment No. 3 Amount: \$300,750.00 Amendment No. 4 Amount: \$293,750.00 Amendment No. 5 Amount: \$399,995.00

For Professional Services rendered from April 28, 2021 to June 11, 2021:

Project Management

Professional Personnel

	Hours	Rate	Amount	
Department Manager				
Pipkin, Lynn	1.00	280.00	280.00	
Senior Project Manager				
Talje, Bassem	28.00	240.00	6,720.00	
Project Manager				
Griffin, Jonathan	5.00	200.00	1,000.00	
Odreman, Gabriel	27.00	200.00	5,400.00	
Associate Engineer				
Richardson, Mark	2.00	125.00	250.00	
Zawil, Ahmad	4.00	125.00	500.00	
Clerical				
Diederich, Diana	15.00	100.00	1,500.00	
Totals	82.00		15,650.00	
Total Labor				15,650.00

Lake Olympia 2

Professional Personnel

	Hours	Rate	Amount
Project Manager			
Bathe, Cody	20.00	200.00	4,000.00
Griffin, Jonathan	20.00	200.00	4,000.00
Odreman, Gabriel	3.00	200.00	600.00
Associate Engineer			
Edwards, Katlyn	1.50	125.00	187.50
Totals	44.50		8,787.50

Total Labor

8,787.50

\$15,650.00

\$8,787.50

Chimney Rock

Project	007677	Fort Bend County Mobility2017		Invoice	621001
Professiona	l Personnel				
		Hours	Rate	Amount	
	Manager				
	riffin, Jonathan	33.00	200.00	6,600.00	
	dreman, Gabriel	2.00	200.00	400.00	
	ate Engineer	6.50	105.00	010.70	
	lwards, Katlyn ish, Don	6.50	125.00	812.50	
IN a	Totals	6.00	125.00	750.00	
	Totals Total Labor	47.50		8,562.50	0.563.50
	Total Labor				8,562.50
					\$8,562.50
Bellaire					
					0.00
Beechnut					
Professiona	l Personnel		m = 4		
Project	Manager	Hours	Rate	Amount	
	the, Cody	24.00	200.00	4,800.00	
	lreman, Gabriel	11.00	200.00	2,200.00	
	ite Engineer	11.00	200.00	2,200.00	
	wards, Katlyn	27.00	125.00	3,375.00	
	san, Elisa	.50	125.00	62.50	
	chardson, Mark	3.00	125.00	375.00	
	Totals	65.50	120.00	10,812.50	
	Total Labor	22.2		10,012.50	10,812.50
					\$10,812.50
					\$10,012.50
Sidewalk	_				
Professional	l Personnel				
		Hours	Rate	Amount	
-	Manager				
	the, Cody	7.00	200.00	1,400.00	
	iffin, Jonathan	24.00	200.00	4,800.00	
	reman, Gabriel	14.00	200.00	2,800.00	
	te Engineer				
	wards, Katlyn	18.25	125.00	2,281.25	
Ric	chardson, Mark	15.00	125.00	1,875.00	
	Totals	78.25		13,156.25	
	Total Labor				13,156.25
					\$13,156.25
Burney					
Professional	Personnel				
		Hours	Rate	Amount	
Project :	Manager				
	the, Cody	38.00	200.00	7,600.00	
0.1	reman, Gabriel	5.00	200.00	1,000.00	
	Project Engineer				

Project	007677	Fort Bend County Mobility2017		Invoice	621001
Associ	ate Engineer		· · · · · · · · · · · · · · · · · · ·		
	lwards, Katlyn	1.00	125.00	125.00	
Hi	urt, Ryan	1.00	125.00	125.00	
	Totals	93.00		17,490.00	
	Total Labor				17,490.00
					\$17,490.00
Old Richmo	ond				
Professiona	ıl Personnel				
		Hours	Rate	Amount	
Project	Manager				
	athe, Cody	4.00	200.00	800.00	
O	dreman, Gabriel	4.00	200.00	800.00	
Clerica	ıl				
Di	iederich, Diana	1.00	100.00	100.00	
	Totals	9.00		1,700.00	
	Total Labor				1,700.00
					\$1,700.00
Bellaire & V	Westmoor				
					0.00
Belknap					
Professiona	d Personnel				
		Hours	Rate	Amount	
Project	Manager				
Ba	athe, Cody	31.00	200.00	6,200.00	
O	dreman, Gabriel	5.00	200.00	1,000.00	
	Project Engineer				
Fr	ıng, Raul	36.00	180.00	6,480.00	
	ate Engineer				
Ec	lwards, Katlyn	4.00	125.00	500.00	
	Totals	76.00		14,180.00	
	Total Labor				14,180.00
					\$14,180.00
Moore					
Professiona	d Personnel				
•		Hours	Rate	Amount	
Project	Manager				
Ba	athe, Cody	33.00	200.00	6,600.00	
O	dreman, Gabriel	4.00	200.00	800.00	
	Project Engineer				
	ıng, Raul	25.00	180.00	4,500.00	
	ate Engineer				
Hi	urt, Ryan	1.00	125.00	125.00	
	Totals	63.00		12,025.00	
	Total Labor				12,025.00
		•			\$12,025.00

Avenue E

Project	007677	Fort Bend County Mobility2017			Invoice	621001
Professiona	l Personnel					
		Но	urs	Rate	Amount	
	Manager					
	dreman, Gabriel	2	2.00	200.00	400.00	
	ate Engineer					
	lwards, Katlyn	3	3.50	125.00	437.50	
	chardson, Mark	4	1.00	125.00	500.00	
Clerica						
Di	ederich, Diana	2	2.50	100.00	250.00	
	Totals	12	2.00		1,587.50	
	Total Labor					1,587.50
						\$1,587.50
						\$1,567.50
Estimates fo	r Future Bond Projects					
John Marco To	i i uture Bona i rojects					
						0.00
	ss Data Entry (All Projects)					
Professiona	l Personnel					
		Но	urs	Rate	Amount	
Project	Manager					
Oc	lreman, Gabriel	2	00.2	200.00	400.00	
Associa	ate Engineer					
Yo	ounis, Yvonne	23	.50	125.00	2,937.50	
	Totals	25	.50		3,337.50	
	Total Labor					3,337.50
						62 227 50
						\$3,337.50
Avenue E						
Avenue L						
						0.00
Reimbursal	ole Expenses					
Reim E	xp-Mileage				131.60	
	Total Reimburs	ables		1.0 times	131.60	131.60
						6121 (0
						\$131.60
Recap:		Current		Previous	To-Date	
Total B	illinge	107,420.35				
	ntract Amount	107,420.33		2,089,629.43	2,197,049.78	
	lance				2,491,495.00	
ы	iance				294,445.22	
				Total Due This 1	nvoice:	\$107,420.35

Remit Payment: RPS Infrastructure, Inc. 575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079 T: (281) 589-7257 - Routing # 111000614 Bank # 697856677 2021.06.2 OK. A/A. 4 11:14:18 -05'00'

007677	Fort Bend County Mobility2017	Invoice	621001
Backup			Tuesday, June 15, 2021

Project

•	g Backup		1 / 14 / 18 / 18 / 18 / 18 / 18 / 18 / 1	Tuesday, June 15, 202
RPS Infrast	ructure Inc. (Live)	Invoice 621001 Date	d 6/15/2021	3:40:50 PI
Professiona	l Personnel			
		Hours	Rate	Amount
Department	Manager			
00606	22 - Pipkin, Lynn 6/10/2021	1.00	280.00	280.00
	Review of project status in the 2017 Bond Pr	ogram		
_	ect Manager			
000653	30 - Talje, Bassem 4/28/2021	2.00	240.00	480.00
	2017 Program Coordinations			
00653	30 - Talje, Bassem 4/30/2021	2.00	240.00	480.00
	2017 Program Coordinations			
00653	30 - Talje, Bassem 5/4/2021	2.00	240.00	480.00
	2017 program coordination			
00653	30 - Talje, Bassem 5/5/2021	2.00	240.00	480.00
	2017 program coordination			
00653	30 - Talje, Bassem 5/11/2021	2.00	240.00	480.00
	2017 program coordination			
00653	30 - Talje, Bassem 5/12/2021	2.00	240.00	480.00
	2017 program coordination			
00653	30 - Talje, Bassem 5/17/2021	2.00	240.00	480.00
	2017 program Coordination			
00653	30 - Talje, Bassem 5/18/2021	2.00	240.00	480.00
	2017 program Coordination			
00653	30 - Talje, Bassem 5/25/2021	2.00	240.00	480.00
	2017 program management Coordination			
00653	30 - Talje, Bassem 5/26/2021	2.00	240.00	480.00
	2017 program management Coordination			
00653	30 - Talje, Bassem 6/2/2021	2.00	240.00	480.00
	2017 program management			
00653	30 - Talje, Bassem 6/3/2021	2.00	240.00	480.00
00000	2017 program management	2.00		
00653	30 - Talje, Bassem 6/9/2021	2.00	240.00	480.00
00055	Design Coordination	2.00	210.00	100.00
00653	30 - Talje, Bassem 6/10/2021	2.00	240.00	480.00
00055	Design Coordination	2,00	240.00	400.00
roject Man				
10ject Man 00555	6 - Griffin, Jonathan 5/4/2021	1.00	200.00	200,00
00333	Internal Meeting to discuss project status	1,00	200.00	200,00
00555		1 00	200.00	200.00
00555	6 - Griffin, Jonathan 5/11/2021	1.00	200.00	200.00
00555	Internal Meetings	1.00	200.00	200.00
00555	6 - Griffin, Jonathan 5/18/2021	1.00	200.00	200.00
00555	Internal progress meeting	1.00	200.00	200.00
00555	6 - Griffin, Jonathan 5/25/2021	1.00	200.00	200.00
00555	Internal Meeting		800.00	200.22
00555	6 - Griffin, Jonathan 6/8/2021	1.00	200.00	200.00
	Internal Status Update Meeting			
01098	6 - Odreman, Gabriel 5/3/2021	4.00	200.00	800.00
	Utility kick off meeting for 2020 mobility			
01098	6 - Odreman, Gabriel 5/5/2021	4.00	200.00	800.00
	Mobility meeting with Ike			
01098	6 - Odreman, Gabriel 5/7/2021	4.00	200.00	800.00
	MW training			
01098	6 - Odreman, Gabriel 5/11/2021	1.00	200.00	200.00
	ROW Meeting			

Project	007677	Fort Bend County Mobil	1ty2017		Invoice	621001
001098	6 - Odreman, Gabriel	5/12/2021	3.00	200.00	600.00	
	Meeting with Pc 2.					
001098	6 - Odreman, Gabriel	5/17/2021	2.00	200.00	400.00	
	Project status review					
001098	6 - Odreman, Gabriel	5/25/2021	2.00	200.00	400.00	
	Status review and coordi	nation of bond program pro	ojects			
001098	6 - Odreman, Gabriel	6/3/2021	4.00	200.00	800.00	
	Project status review					
001098	6 - Odreman, Gabriel	6/8/2021	1.00	200.00	200.00	
	ROW meeting with gress	s group and Sandy		•		
001098	6 - Odreman, Gabriel	6/9/2021	2.00	200.00	400.00	
	Monthly meeting with Po	ct 2				
Associate E	Engineer					
000736	20 - Richardson, Mark	6/9/2021	2.00	125.00	250.00	
	Monthly update meeting	preparation and meeting				
001181	9 - Zawil, Ahmad	4/29/2021	1.00	125.00	125.00	
	update FBC mobility sch	nedule				
001181	9 - Zawil, Ahmad	5/1/2021	1.00	125.00	125.00	
	Deliver CDs and Letter t	to FBC				
001181	9 - Zawil, Ahmad	5/12/2021	1.00	125.00	125.00	
	Comunicate with Charle	s Gooden				
001181	9 - Zawil, Ahmad	5/13/2021	1.00	125.00	125.00	
	Comunicate with Charle	s Gooden				
Clerical						
000106	29 - Diederich, Diana	4/28/2021	1.00	100.00	100.00	
	PAF, approvals, file man	nagement				
000106	29 - Diederich, Diana	5/4/2021	1.00	100.00	100.00	
	FBC Status meeting & a					
000106	29 - Diederich, Diana	5/5/2021	1.50	100.00	150.00	
	Assist with PSR, distrib				150.00	
000106	29 - Diederich, Diana	5/11/2021	1.50	100.00	150.00	
	FBC Update meeting &				150.00	
000106	29 - Diederich, Diana	5/18/2021	1.50	100.00	150.00	
	•	action items & disturbute		100.00	250.00	
000106	29 - Diederich, Diana	5/25/2021	2.50	100.00	250.00	
		management for meeting	1.50	100.00	150.00	
000106	29 - Diederich, Diana	6/1/2021	1.50	100.00	150.00	
	Meeting and file manag			100.00	150.00	
000106	29 - Diederich, Diana	6/7/2021	1,50	100.00	150.00	
	_	g FBC court link for Amen		100.00	150.00	
000106	29 - Diederich, Diana	6/8/2021	1.50	100.00	150.00	
	FBC Status Update Mee		1.50	100.00	150.00	
000106	29 - Diederich, Diana	6/11/2021	1.50	100.00	150.00	
	File management		00.00		15 650 00	
	Totals		82.00		15,650.00	15,650.00
	Total Labor					12,020,00
						\$15,650.00

			Hours	Rate	Amount
Project Mar	nager				
000620	6 - Bathe, Cody	5/3/2021	3.00	200.00	600.00
	Contacted the pipeline c update and Lono can rev	ompany to see what informiew the plans	mation they neede	d for the	
000620	6 - Bathe, Cody	5/10/2021	4.00	200.00	800.00
	Site visit to look at locat trying to get the Lono up	tion of crossing a proposed pdated	d roadway send in	formation	
000620	6 - Bathe, Cody	5/24/2021	3.00	200.00	600.00

Project	007677	Fort Bend County Mobi	ility2017		Invoice	621001
000620	6 - Bathe, Cody	5/27/2021	3.00	200.00	600.00	
000620	6 - Bathe, Cody	6/1/2021	3.00	200.00	600.00	
000620	6 - Bathe, Cody	6/8/2021	4.00	200.00	800.00	
000555	6 - Griffin, Jonathan	4/28/2021	1.00	200.00	200,00	
	Coordination with Design	gn Consultant				
000555	6 - Griffin, Jonathan	4/29/2021	1.00	200.00	200.00	
	Coordination with Design	gn Consultant				
000555	6 - Griffin, Jonathan	4/30/2021	1.00	200.00	200.00	
	Coordination with Desi					
000555	6 - Griffin, Jonathan	5/4/2021	1.00	200.00	200.00	
000000	Coordinate with Design					
000555	6 - Griffin, Jonathan	5/7/2021	1.00	200.00	200.00	
000555	Coordinate with Design		1.00	200,00	200.00	
000555	6 - Griffin, Jonathan	5/14/2021	1.00	200.00	200.00	
000333			1,00	200.00	200.00	
000555	Design Consultant Coor		1.00	200.00	200.00	
000555	6 - Griffin, Jonathan	5/18/2021	1.00	200.00	200.00	
000555	Design consultanat coor		1.00	200.00	200.00	
000555	6 - Griffin, Jonathan	5/20/2021	1.00	200.00	200.00	
	Design consultanat coor					
000555	6 - Griffin, Jonathan	5/24/2021	2.00	200.00	400.00	
	Review survey proposa					
000555	6 - Griffin, Jonathan	5/25/2021	1.00	200.00	200.00	
		and GCWA for agreements				
000555	6 - Griffin, Jonathan	5/27/2021	1.00	200.00	200.00	
	Coordinate with Design	Engineer				
000555	6 - Griffin, Jonathan	5/28/2021	1.00	200.00	200.00	
	Reach out to Republic S	Services				
000555	6 - Griffin, Jonathan	6/2/2021	1.00	200.00	200.00	
	UPRR Coordination					
000555	6 - Griffin, Jonathan	6/3/2021	1.00	200.00	200.00	
	UPRR Coordination					
000555	6 - Griffin, Jonathan	6/8/2021	2.00	200.00	400.00	
	Review proposal amend	lment from design consulta	nt and discuss Li	ve Oak		
	Easement with Sandy					
000555	6 - Griffin, Jonathan	6/9/2021	3.00	200.00	600.00	
	Meetings with Republic	Services and FBC				
001098	6 - Odreman, Gabriel	5/20/2021	1.00	200.00	200.00	
	Project status review					
001098	6 - Odreman, Gabriel	5/26/2021	1.00	200.00	200.00	
	Surveyor proposal revie	w				
001098	6 - Odreman, Gabriel	6/9/2021	1.00	200.00	200.00	
	-	irvey and drainage change o	order			
	* Meeting with Replubl					
Associate I	Engineer					
001175	9 - Edwards, Katlyn	6/2/2021	.50	125.00	62.50	
		s in order to try and set up a	neeting to discr	uss ROW		
001175	9 - Edwards, Katlyn	6/9/2021	1.00	125.00	125.00	
	· · · · · · · · · · · · · · · · · · ·	ervices in regards to the RC			120100	
	Totals	or the state of th	44,50		8,787.50	
	Total Labor		17,50		0,707.50	8,787.50
	Total Landi					\$8,787.50
						Φ0,707.50

			Hours	Rate	Amount
Project Ma	nager				
000555	6 - Griffin, Jonathan	4/28/2021	. 1.00	200.00	200.00
	Bid Tabulation and Coordi	nation with Design Con	sultant		

Project	007677	Fort Bend County Mobility	y2017		Invoice	621001
00555	6 - Griffin, Jonathan	4/29/2021	1.00	200.00	200.00	
	Bid Tabulation and C	oordination with Design Consul-	tant			
0555	6 - Griffin, Jonathan	4/30/2021	1.00	200.00	200.00	
	·	oordination with Design Consul-	tant			
00555	6 - Griffin, Jonathan	5/3/2021	1.00	200.00	200.00	
	Pre-Bid Tabulations					
00555	6 - Griffin, Jonathan	5/7/2021	1.00	200,00	200.00	
00333	Coordinate with Desi		2.22			
00555	6 - Griffin, Jonathan	5/10/2021	2.00	200.00	400.00	
00333	Design Consultant Co		2.00	200.00	700.00	
00555	6 - Griffin, Jonathan	5/11/2021	1,00	200.00	200.00	
00333	Review References for		1,00	200.00	200.00	
00555		5/13/2021	3.00	200.00	600.00	
00555	6 - Griffin, Jonathan		3.00	200.00	000.00	
00555	Meeting with Develo	_	1.00	200.00	200.00	
00555	6 - Griffin, Jonathan	5/14/2021	1.00	200.00	200.00	
	Design Consultant Co		1.00	200.00	200.00	
00555	6 - Griffin, Jonathan	5/18/2021	1.00	200.00	200.00	
		at ADA Ramps and Sidewalk at 1			*** **	
00555	6 - Griffin, Jonathan	5/21/2021	1.00	200.00	200.00	
	-	t ADA Ramps and Sidewalk at				
00555	6 - Griffin, Jonathan	5/24/2021	1.00	200.00	200.00	
	Sidewalk Revision at	Tabor Mills				
00555	6 - Griffin, Jonathan	5/26/2021	1.00	200.00	200.00	
	Waterline Extension	coordination with LJA				
00555	6 - Griffin, Jonathan	5/27/2021	1.00	200.00	200.00	
	Coordinate with FBC	ISD				
00555	6 - Griffin, Jonathan	5/28/2021	1.00	200.00	200.00	
00202	CMT Contract Propo				•	
00555	6 - Griffin, Jonathan	6/2/2021	2.00	200.00	400.00	
00000		esign Consultant and Waterline I				
00555	6 - Griffin, Jonathan	6/3/2021	2.00	200.00	400.00	
00333	·	esign Consultant and Waterline I		200.00	100.00	
00555		6/7/2021	2.00	200.00	400.00	
00555	6 - Griffin, Jonathan				400.00	
		esign Consultant for ADA ramps			200.00	
00555	6 - Griffin, Jonathan	6/8/2021	1.00	200.00	200.00	
•	Assist in Pre-Con me		2.22	200.00	600.00	
00555	6 - Griffin, Jonathan	6/9/2021	3.00	200.00	600.00	
	Assist in Pre-Con me					
00555	6 - Griffin, Jonathan	6/10/2021	4.00	200.00	800.00	
		ADA Ramp coordination, TxDO	DT permit coor	dination, and		
	setup pre-con meetin					
00555	6 - Griffin, Jonathan	6/11/2021	1.00	200.00	200.00	
	Design Consultant Co	oordination				
01098	6 - Odreman, Gabriel	5/19/2021	1.00	200.00	200.00	
	Project status review					
01098	6 - Odreman, Gabriel	6/8/2021	1.00	200.00	200.00	
	CMT proposal review					
ssociate E						
01175	9 - Edwards, Katlyn	4/28/2021	5.50	125.00	687.50	
0,1,0	Worked on Bid Tabu					
01175	9 - Edwards, Katlyn	6/9/2021	1.00	125.00	125.00	
Q11 <i>(3</i>		nt for elementary school	1,00	120.00	120.00	
100E00			4.00	125.00	500.00	
00599	8 - Nash, Don	5/6/2021	4.00	143.00	300.00	
	Contacting contrator		0.00	105.00	050.00	
00599	8 - Nash, Don	5/7/2021	2.00	125.00	250.00	
	Contacting contrator	references			A	
	Totals		47.50		8,562.50	8,562.50
	Total Lab					

\$8,562.50

Frotessiona			Hours	Rate	Amount
Project Man	_				
000620	6 - Bathe, Cody Working with Wesley to get site	5/3/2021 the Comcast polls reloc	4.00 ated met with C	200.00 omcast on	800.00
000620	6 - Bathe, CodyMeeting with property owner	5/5/2021 r regarding TCE agreem	2.00 nent.	200.00	400.00
000620	6 - Bathe, Cody	5/6/2021	4.00	200.00	800.00
	Drill project site to make sur construction verified that the				
000620	6 - Bathe, Cody	5/10/2021	2.00	200,00	400.00
	Site visit to confirm with Co- conflict	mcast it all lined been re	emoved and no l	onger in	
000620	6 - Bathe, Cody	5/24/2021	2.00	200.00	400.00
000620	6 - Bathe, Cody	6/1/2021	2.00	200.00	400.00
000620	6 - Bathe, Cody	6/8/2021	5.00	200.00	1,000.00
000620	6 - Bathe, Cody	6/10/2021	3.00	200.00	600.00
001098	6 - Odreman, Gabriel	4/29/2021	2.00	200.00	400.00
	Meeting with Mision Sierra	HOA			
001098	6 - Odreman, Gabriel	5/11/2021	2.00	200.00	400.00
	Sidewalk design coordination	n			•
001098	6 - Odreman, Gabriel	5/17/2021	1.00	200.00	200.00
	Harlems Holding Property				
001098	6 - Odreman, Gabriel	5/18/2021	1.00	200.00	200.00
	Project status review				
001098	6 - Odreman, Gabriel	5/26/2021	2.00	200.00	400.00
	Sidewalk change plans revie	w			
001098	6 - Odreman, Gabriel	6/7/2021	2.00	200.00	400.00
	Review beechnut plans for si	idewalk shift			
001098	6 - Odreman, Gabriel	6/8/2021	1.00	200.00	200.00
	Review construction status				
Associate E	ngineer				
001175	9 - Edwards, Katlyn	4/29/2021	.50	125.00	62.50
	Meeting with HOA about dit	ch in Landscape			
001175	9 - Edwards, Katlyn	5/3/2021	1.50	125.00	187.50
	arranged meetign with devel	oper, prepared for meeti	ing,		
001175	9 - Edwards, Katlyn	5/4/2021	1.00	125.00	125.00
	fbc mobility meeting				
001175	9 - Edwards, Katlyn	5/5/2021	2.00	125.00	250.00
	meeting with developer and	follow up tee agreemnts	l		
001175	9 - Edwards, Katlyn	5/6/2021	.50	125.00	62.50
	spoke with tim about helping agreement	g developer with permit;	in order to obta	in TCE	
001175	9 - Edwards, Katlyn	5/10/2021	1.00	125.00	125.00
	update on TCE with develop	er and how to move for	ward		
001175	9 - Edwards, Katlyn	5/11/2021	1.00	125.00	125.00
	Fort Bend County Bond prog	gram meeting			
001175	9 - Edwards, Katlyn	5/17/2021	1.50	125.00	187.50
	checked on utility conflicts b	ased on information fro	m HOA		
001175	9 - Edwards, Katlyn	5/18/2021	3.00	125.00	375.00
	Weekly FBC meeting, looking	ng over revised plan set	from costello		
001175	9 - Edwards, Katlyn	5/21/2021	1.00	125.00	125.00
	meeting with Costello				
001175	9 - Edwards, Katlyn	5/24/2021	.50	125.00	62.50
	scheduled and prepared for r	neeting over revised pla	n sheets		

Project	007677	Fort Bend County Mob	ility2017		Invoice	621001
001175	9 - Edwards, Katlyn	5/25/2021	.50	125.00	62.50	
	weekly FBC meeting					
01175	9 - Edwards, Katlyn	5/26/2021	2.50	125.00	312,50	
	looking over revised pla	ns and addressing concerns	s with costello			
01175	9 - Edwards, Katlyn	5/27/2021	1.00	125.00	125.00	
	coordinating with costel	lo in regards to plan revisio	ons			
01175	9 - Edwards, Katlyn	6/1/2021	2.00	125.00	250.00	
	FBC weekly meeting, w	orking to resolve utility/tru	nk line conflict			
01175	9 - Edwards, Katlyn	6/2/2021	.50	125.00	62.50	
	investigating if gas line	continues to east of westmo	oore			
01175	9 - Edwards, Katlyn	6/3/2021	1.00	125.00	125.00	
	coordinated with those i	n field to resolve gas line a	nd rep conflict			
01175	9 - Edwards, Katlyn	6/7/2021	1.00	125.00	125.00	
	went over revised plans					
01175	9 - Edwards, Katlyn	6/8/2021	3.00	125.00	375.00	
	took care of outstanding waterflow in new planse	invoices, FBC weekly med et	eting and and cor	ıfirmed		
01175	9 - Edwards, Katlyn	6/10/2021	1.00	125.00	125.00	
	followed up with invoic	es and retrieved contact inf	ormtion			
01175	9 - Edwards, Katlyn	6/11/2021	1.00	125.00	125.00	
	upload invoices to maste	erworks				
01186	9 - Ihsan, Elisa	5/26/2021	.50	125.00	62.50	
	Print plan					
00736	20 - Richardson, Mark	6/1/2021	2.00	125.00	250.00	
	Coordination with engin	eer and county for gas line	clearace issues a	nd revision of		
00736	20 - Richardson, Mark	6/9/2021	1.00	125.00	125.00	
	Coordination during cor	truction updates				
	Totals	-	65.50		10,812.50	
	Total Labor				•	10,812.50

			Hours	Rate	Amount	
Project Ma	nager					
000620	6 - Bathe, Cody	5/10/2021	3.00	200.00	600,00	
	Confirm with the mud that needed for the right away		greement and eve	rything they		
000620	6 - Bathe, Cody	5/25/2021	2.00	200.00	400.00	
000620	6 - Bathe, Cody	6/11/2021	2.00	200.00	400.00	
000555	6 - Griffin, Jonathan	5/24/2021	4.00	200.00	800.00	
	Review Change Order for	Sidewalk Improvements	S			
000555	6 - Griffin, Jonathan	5/25/2021	4.00	200.00	800.00	
	Review Change Order for	Sidewalk Improvements	3			
000555	6 - Griffin, Jonathan	5/26/2021	4.00	200.00	800.00	
	Review Change Order for	Sidewalk Improvement	3			
000555	6 - Griffin, Jonathan	5/27/2021	2.00	200.00	400.00	
	Review Change Order for	Sidewalk Improvements	3			
000555	6 - Griffin, Jonathan	5/28/2021	2.00	200.00	400.00	
	Review Change Order for	Sidewalk Improvements	5			
000555	6 - Griffin, Jonathan	6/2/2021	2.00	200.00	400.00	
	Coordinate Change Order	for overrun and additior	al sidewalks			
000555	6 - Griffin, Jonathan	6/3/2021	2.00	200.00	400.00	
	Coordinate Change Order	for overrun and additior	al sidewalks			
000555	6 - Griffin, Jonathan	6/7/2021	4.00	200.00	800.00	
	Meet with Wesley and Cha	arles Gooden to discuss	change order			
001098	6 - Odreman, Gabriel	4/28/2021	3.00	200.00	600.00	
	Coordination sidewalk cha	nge order 1				

\$10,812.50

Project	007677	Fort Bend County Mobi	lity2017		Invoice	621001
001098	6 - Odreman, Gabriel	5/11/2021	1.00	200.00	200.00	
	Cpmmunication with PM	[
001098	6 - Odreman, Gabriel	5/12/2021	1.00	200.00	200.00	
	coordination for project s	start at Scanlin Rd				
001098	6 - Odreman, Gabriel	5/18/2021	1,00	200.00	200.00	
	Review proposal for pede	estrian bridge				
01098	6 - Odreman, Gabriel	5/20/2021	1.00	200.00	200.00	
	Project status review					
01098	6 - Odreman, Gabriel	5/26/2021	3.00	200.00	600.00	
	Change order 1 review					
01098	6 - Odreman, Gabriel	6/7/2021	4.00	200.00	800.00	
	Lunch meeting with Wes	ley and meeting with cons	ultant in FBC of	fice		
ssociate En	gineer					
01175	9 - Edwards, Katlyn	5/20/2021	1.50	125,00	187.50	
	meeting to transfer respon	nsibilities				
01175	9 - Edwards, Katlyn	5/21/2021	.50	125.00	62.50	
		oint of contact to inform th	at I will now be	contacting		
	them			-		
01175	9 - Edwards, Katlyn	5/24/2021	1.00	125.00	125.00	
	caught up on emails discr	ussing curb alignment, cha	nge order, and fi	ll needs		
01175	9 - Edwards, Katlyn	5/25/2021	.25	125.00	31.25	
	weekly FBC meeting					
01175	9 - Edwards, Katlyn	5/26/2021	2.50	125.00	312.50	
	sidewalk safety ans wink	leman proposal meeting, d		e order, and		
		d to confirm quantities for		•		
01175	9 - Edwards, Katlyn	5/27/2021	2.00	125.00	250.00	
	following up on change of	order info needed				
01175	9 - Edwards, Katlyn	5/28/2021	4.00	125.00	500.00	
	confirming quantities on	record drawings				
01175	9 - Edwards, Katlyn	6/1/2021	2.00	125.00	250.00	
		alled to check up on record	l drawings & bri	dge estimate,		
	discussed concrete at qua	il glen dr				
01175	9 - Edwards, Katlyn	6/2/2021	1.50	125.00	187.50	
		needed to be asked in tome	orrows meeting a	about the		
	change order	d to 1		40.7.00		
01175	9 - Edwards, Katlyn	6/3/2021	1.50	125.00	187.50	
		escriptions and prices in ch	_			
01175	9 - Edwards, Katlyn		.50	125.00	62.50	
	got updated on meeting d					
01175	9 - Edwards, Katlyn	6/8/2021	1.00	125.00	125.00	
		ked over spreadsheet sent t	-	_		
00736	20 - Richardson, Mark	5/25/2021	1.00	125.00	125.00	
		on and other change orders				
000736						
		RPS for updating change	orders and exhib	its to meet		
	county standards	£ 14 18 08 °		10 7 00	2== 00	
00736	20 - Richardson, Mark	6/1/2021	3.00	125.00	375.00	
		or Change Order quantity r	_			
00736	20 - Richardson, Mark	6/2/2021	4.00	125.00	500.00	
		or Change Order quantity r				
00736	20 - Richardson, Mark	6/7/2021	2.00	125.00	250.00	
	Coordination with construction order	uction manager to get char	nge order docum	entation in		
000736	20 - Richardson, Mark	6/8/2021	1.00	125.00	125.00	
	Check and update of char	nge order documentation				
	Totals		78.25		13,156.25	
	Total Labor					13,156.25
						, ·

\$13,156.25

Project	007677	Fort Bend County Mobi	lity2017		Invoice	621001
Profession	al Personnel					
			Hours	Rate	Amount	
Project Ma	nager					
000620	6 - Bathe, Cody	4/28/2021	3.00	200.00	600.00	
000620	6 - Bathe, Cody	4/30/2021	3.00	200.00	600.00	
000620	6 - Bathe, Cody	5/4/2021	5.00	200.00	1,000.00	
4		reement For a project try to se at made a few phone calls tryin				
000620	6 - Bathe, Cody	5/5/2021	3.00	200.00	600.00	
	, ,	algreen's regarding TCE agree	ment.			
000620	6 - Bathe, Cody	5/11/2021	5.00	200.00	1,000.00	
		companies trying to make sure ed in June followed up on TCE		dule to have		
000620	6 - Bathe, Cody	5/12/2021	5.00	200.00	1,000.00	
		ty owner at ABC Academy and mation regarding the project in				
000620	6 - Bathe, Cody	5/13/2021	3.00	200.00	600.00	
	Trying to gather info about the project	rmation regarding HOA's alon	g project to conf	tact them		
000620	6 - Bathe, Cody	5/14/2021	2.00	200.00	400.00	
	Provide information Old Richmond project		rtment regarding			
000620	6 - Bathe, Cody	5/25/2021	2.00	200.00	400.00	
000620	6 - Bathe, Cody	5/27/2021	2.00	200.00	400.00	
000620	6 - Bathe, Cody	6/3/2021	3.00	200.00	600.00	
000620	6 - Bathe, Cody	6/11/2021	2.00	200.00	400.00	
001098	6 - Odreman, Gabrie		2.00	200.00	400.00	
004000		Es and Kingsland MUD	1.00	200.00	200.00	
001098	6 - Odreman, Gabrie Project status review		1.00	200.00	200.00	
001098	6 - Odreman, Gabrie		2.00	200.00	400:00	
	• •	CNP poles relocation, and txdo	t permit			
_	ect Engineer	1/00/0001	2.00	100.00	260.00	
000727	discussed final look	4/28/2021 Green regarding pending responsomments by Martin G. Check Checked design criteria from FI	radius at drivew		360.00	
000727	7 - Fung, Raul	4/29/2021	1.00	180.00	180.00	
	Follow up with actio	n items from FBC weekly statutes shown in mobility schedule		on 04/27.		
000727	7 - Fung, Raul	4/30/2021	1.00	180.00	180.00	•
	progress of tcp updat Richmond Rd. Conta	regarding SH6 TxDot permit tes to current concept at interse acted TxDot regarding SH6 per after Kingsbridge MUD cons	ection of SH6 and mit approval. Cl	d Old hecked on		
000727	7 - Fung, Raul	5/3/2021 Green regarding ownership info	2.00	180.00	360.00	
	TCE's.					
000727		5/4/2021 Is to SH6 permit. Attended FE Green regarding final look revi on.			360.00	
000727	7 - Fung, Raul	5/5/2021	1.00	180.00	180.00	
	Review of latest traft HR Green provided	fic comments by TxDot in regathe comments.	ards to SH6 perm	nit approval.		
000727	7 - Fung, Raul	5/6/2021	1.00	180.00	180.00	
	Review of latest traff HR Green provided to	fic comments by TxDot in regathe comments.	ards to SH6 perm	nit approval.		

roject	007677	Fort Bend County Mob	ility2017		Invoice 621001	
00727	7 - Fung, Raul	5/10/2021	1.00	180.00	180.00	
V121	Checked for Homeov	wners Assoc. in project area, d	liscussed with Cod	ly B.		
	regarding contact inf				A.C	
00727	7 - Fung, Raul	5/12/2021	2.00	180.00	360.00	
	Follow up with action	n item of HOA in project area	, discussed with C	ody B.		
	contact information,	also discussed TCP sheets (in	regards to fire stat	tion and		
	elementary school ne		2.00	180.00	360.00	
00727	7 - Fung, Raul	5/13/2021			300.00	
	Contacted HR Green	regarding latest traffic comm it) and also discussed progress	s of drainage sheet	ts undates.		
00505		5/14/2021	2.00	180.00	360.00	
00727	7 - Fung, Raul	Green regarding traffic comme				
	Researched informat	tion regarding Homeowners A	Association in proj	ect area		
00727	7 - Fung, Raul	5/17/2021	1.00	180.00	180.00	
00121	Conference call with	Yvonne Y. regarding inform	ation requested by	FBC (MS		
	project data).		•			
00727	7 - Fung, Raul	5/18/2021	1.00	180.00	180.00	
	Contacted HR Green	n and discussed: drainage shee	ets updates, top upo	dates and SH6		
	TxDot permit.				260.00	
00727	7 - Fung, Raul	5/19/2021	2.00	180.00	360.00	
	Contacted HOA in p	project area. Contacted TxDot	regarding SH6 per	rmit.		
		Green the progress of drainag	e and tep sneets, a	uso uiscusseu		
	final look comments	s. 5/20/2021	1.00	180.00	180.00	
00727	7 - Fung, Raul	rra Management in regards to				
	Contacted High Sier	sed Burney Old Richmond pro	oiect.	00 11 11015		
000727	7 - Fung, Raul	5/21/2021	1.00	180.00	180.00	
J00/2/		est Homeowners Assiociation,	, discussed Burney	/ Old		
	Richmond project.					
000727	7 - Fung, Raul	5/24/2021	4.00	180.00	720.00	
	Contacted the folloy	wign Homeowners Association	ns: Kinsgbridge, T	'ownewest		
	and Woodbridge, di	sussed proopsed roadway wor	rk and possible			
	conflicts/relocations	s. Discussed with HR Green f	mal look commen	t regarding		
	detour of traffic to S sheets.	SH6, also discussed progress of	n updates to tep at	id dramage		
000727	7 - Fung, Raul	5/25/2021	2.00	180.00	360.00	
000727	Follow up with Wo	odbrige Homeowner Associat	ion regarding the J	Burney Old		
	Richmond project.	Met with Martin G. regarding	final look review	comment		
	(about detours).				100.00	
000727	7 - Fung, Raul	5/26/2021	1.00	180.00	180.00	
	Folllow up with HR	R Green regarding possible con	nflict with exsiting	waterline and		
	proposed pavement	, reviewed latest utility conflic	ct table previously	submitted by		
	HR Green.	E 100 10001	1.00	180.00	180.00	
000727	7 - Fung, Raul	5/28/2021			200,00	
	Follow up with HE	R Green regarding possible cont. Discussed with Cody B. reg	earding utility relo	cations along		
	Belknap Rd.	Discussed with Cody D. 10g	,	· -		
000727	7 - Fung, Raul	6/1/2021	2.00	180.00	360.00	
000121	Conference call with	th Jesus O. from HR Green re	garding possible w	vaterline		
	conflict also discus	ssed survev data from Halff A	kssociates (data in 1	regards to		
	Kingsbridge MUD	permit construction). Check:	for email correspo	ndence with		
	Chad A. from IDS	regading wateline relocations Greeen new submittal date of	wnitnin project lif	nns. Attended FBC		
	Discussed with HR weekly status meet		L 100/0 Packago. F			
	7 - Fung, Raul	6/2/2021	3.00	180.00	540.00	
000727	Contacted HR Gree	en regarding SH6 TxDot perm		comments).		
000727	vaniation ille the	correspondence with IDS Eng	ineering regarding	waterline		
000727	Researched email					
000727	Researched email or relocations in proj	ect.				
000727 000727	Researched email orelocatiions in proj 7 - Fung, Raul	ect. 6/3/2021	3.00	180.00	540.00	
	Researched email of relocations in proj 7 - Fung, Raul Follow up with ID	ect. 6/3/2021 S Engineering and HR Green	regading waterline	e relocations	540.00	
	Researched email or relocations in proj 7 - Fung, Raul Follow up with ID	ect. 6/3/2021 S Engineering and HR Green officts with new roadway. Col	regading waterline	e relocations garding	540.00	
	Researched email of relocations in project 7 - Fung, Raul Follow up with ID due to possible corect approval of SH6 programmers of SH6 programmers.	ect. 6/3/2021 S Engineering and HR Green	regading waterline ntacted TxDOT regens and tasks from	e relocations garding n microsoft	540.00	

Project	007677	Fort Bend County Mo	bility2017		Invoice	621001
000727	7 - Fung, Raul	6/7/2021	2.00	180.00	360.00	. ,
	Follow up with HR Greet Rd. permit, also discussed and tcp sheets. Follow up	d project progress in rega	irds to updated dr	ld Richmond ainage sheets		
000727	7 - Fung, Raul	6/8/2021	3.00	180.00	540.00	
	Conference call with HR	Green regarding possible	e water line reloc	ation. Field	2 10,00	
	meeting is scheduled tom FBC weekly status meeting approval at SH6 and old I	orrow between HR Gree ng. Contacted TxDot as	n and MDS opera	ator. Attended		
000727	7 - Fung, Raul	6/9/2021	2.00	180.00	360.00	
	Met with Ryan H. to disco (Ike A. requested a communication slope issues).	uss excel response spread tent response spreadshee	dsheet to be provi t in regards to dri	ided to FBC veways with		
00727	7 - Fung, Raul	6/10/2021	1.00	180.00	180.00	
	Conference call with Jesu also talked to Sergio from adjustments. Follow up v comments (in regards to	n MDS services regarding with HR Green regarding	g possible waterli responses to traf	ne		
00727	7 - Fung, Raul	6/11/2021	1.00	180.00	180.00	
	Review of plan sheets (probetween proposed roadwa	ovided by HR Greeen) sl y and existing waterelin	nowing possible o	conflict areas		
Associate I)01175	•	610/0001	1.00	105.00		
/011/3	9 - Edwards, Katlyn updated TCE agreements	6/8/2021	1.00	125.00	125.00	
001180	9 - Hurt, Ryan	6/9/2021	1.00	125.00	105.00	
	Created a exect chart and		1.00	123.00	125.00	•
	Totals	apamou wini pians data	93.00		17,490.00	
	Total Labor		22.00		17,170.00	17,490.00
						27,120100
						\$17,490.00
rofession	al Personnel					\$17,490.00
rofession	al Personnel		Hours	Rate	Amount	\$17,490.00
			Hours	Rate	Amount	\$17,490.00
roject Mar 00620		6/1/2021	Hours 4.00	Rate 200.00	Amount 800.00	\$17,490.00
roject Mar 00620	nager 6 - Bathe, Cody 6 - Odreman, Gabriel	5/4/2021				\$17,490.00
roject Mar 00620 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc	5/4/2021 hools	4.00	200.00	800.00	\$17,490.00
roject Mar 00620 01098 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination ofr project st	5/4/2021 hools 5/12/2021 tatus	4.00	200.00	800.00	\$17,490.00
roject Mar 00620 01098 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination of project st 6 - Odreman, Gabriel	5/4/2021 hools 5/12/2021	4.00 2.00	200.00 200.00	800.00 400.00	\$17,490.00
Project Mai 000620 001098 001098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination ofr project st	5/4/2021 hools 5/12/2021 tatus	4.00 2.00 1.00	200.00 200.00 200.00	800.00 400.00 200.00	\$17,490.00
roject Mai 00620 01098 01098 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination of project st 6 - Odreman, Gabriel Project status review	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00	\$17,490.00
roject Mai 00620 01098 01098 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination of project st 6 - Odreman, Gabriel	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00	200.00 200.00 200.00	800.00 400.00 200.00	\$17,490.00
roject Mai 00620 01098 01098 01098 01098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00	\$17,490.00
Project Mai 000620 001098 001098 001098	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreer	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00	\$17,490.00 1,700.00
Profession. Project Mar 200620 201098 201098 201098 Clerical 200106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00	
Project Mai 000620 01098 01098 01098 Clerical 00106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00 1.00 9.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00 100.00 1,700.00	1,700.00
Project Man 00620 01098 01098 01098 Clerical 00106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreer Totals Total Labor	5/4/2021 hools 5/12/2021 tatus 5/18/2021	4.00 2.00 1.00 1.00	200.00 200.00 200.00 200.00	800.00 400.00 200.00 200.00	1,700.00
roject Mar 00620 01098 01098 01098 Clerical 00106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen Totals Total Labor al Personnel nager 6 - Bathe, Cody	5/4/2021 hools 5/12/2021 tatus 5/18/2021 6/9/2021 ment signed	4.00 2.00 1.00 1.00 1.00 9.00	200.00 200.00 200.00 200.00 100.00	800.00 400.00 200.00 200.00 100.00 1,700.00	1,700.00
Project Mai 000620 01098 01098 01098 Clerical 00106 Professiona roject Mar 00620	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen Totals Total Labor al Personnel	5/4/2021 hools 5/12/2021 tatus 5/18/2021 6/9/2021 ment signed 5/6/2021 at Belknap road to discu	4.00 2.00 1.00 1.00 1.00 9.00	200.00 200.00 200.00 200.00 100.00	800.00 400.00 200.00 200.00 100.00 1,700.00	1,700.00
Project Mai 00620 01098 01098 01098 Clerical 00106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen Totals Total Labor al Personnel nager 6 - Bathe, Cody Visited with ABC daycare would be available for a m 6 - Bathe, Cody	5/4/2021 hools 5/12/2021 tatus 5/18/2021 6/9/2021 ment signed 5/6/2021 at Belknap road to discueeting 5/11/2021	4.00 2.00 1.00 1.00 1.00 9.00 Hours 5.00 ass project to get of 4.00	200.00 200.00 200.00 200.00 100.00 Rate 200.00 dates that he 200.00	800.00 400.00 200.00 200.00 100.00 1,700.00	1,700.00
Project Mai 00620 01098 01098 01098 Clerical 00106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreen Totals Total Labor al Personnel nager 6 - Bathe, Cody Visited with ABC daycare would be available for a m	5/4/2021 hools 5/12/2021 tatus 5/18/2021 6/9/2021 ment signed 5/6/2021 at Belknap road to discueeting 5/11/2021	4.00 2.00 1.00 1.00 1.00 9.00 Hours 5.00 ass project to get of 4.00	200.00 200.00 200.00 200.00 100.00 Rate 200.00 dates that he 200.00	800.00 400.00 200.00 100.00 1,700.00 Amount 1,000.00	1,700.00
Project Mai 000620 001098 001098 001098 Clerical 000106	nager 6 - Bathe, Cody 6 - Odreman, Gabriel Meeting with Harmony sc 6 - Odreman, Gabriel Coordination off project st 6 - Odreman, Gabriel Project status review 29 - Diederich, Diana Meeting to get TCE agreed Totals Total Labor al Personnel nager 6 - Bathe, Cody Visited with ABC daycare would be available for a m 6 - Bathe, Cody Went to project site to mee	5/4/2021 hools 5/12/2021 tatus 5/18/2021 6/9/2021 ment signed 5/6/2021 at Belknap road to discueeting 5/11/2021	4.00 2.00 1.00 1.00 1.00 9.00 Hours 5.00 ass project to get of 4.00	200.00 200.00 200.00 200.00 100.00 Rate 200.00 dates that he 200.00	800.00 400.00 200.00 100.00 1,700.00 Amount 1,000.00	1,700.00

000620 000620 000620 000620 000620 001098 001098 001098 Senior Project 000727 000727	6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regr 7 - Fung, Raul Revision of sheets for IH	5/28/2021 6/2/2021 6/7/2021 6/9/2021 6/9/2021 6/10/2021 5/18/2021 r project status and drivew: 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen 5/6/2021	2.00 hers for DW slop 1.00 as meeting held of 1.00	180.00	800.00 800.00 1,000.00 600.00 200.00 400.00 400.00	
000620 000620 000620 001098 001098 001098 Senior Project 000727	6 - Bathe, Cody 6 - Bathe, Cody 6 - Bathe, Cody 6 - Odreman, Gabriel Project status review 6 - Odreman, Gabriel Meeting with Ike to gover 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	6/7/2021 6/9/2021 6/10/2021 5/18/2021 5/24/2021 r project status and drivewed 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly status 5/4/2021 arding latest plans and Cen	5.00 3.00 3.00 1.00 2.00 ays 2.00 hers for DW slop 1.00 s meeting held of 1.00	200.00 200.00 200.00 200.00 200.00 200.00 es 180.00 n.04/27.	1,000.00 600.00 600.00 200.00 400.00	
000620 000620 001098 001098 001098 Senior Project 000727 000727	6 - Bathe, Cody 6 - Bathe, Cody 6 - Odreman, Gabriel Project status review 6 - Odreman, Gabriel Meeting with Ike to gover 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	6/9/2021 6/10/2021 5/18/2021 5/24/2021 r project status and drivews 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	3.00 3.00 1.00 2.00 ays 2.00 hers for DW slop 1.00 as meeting held of 1.00	200.00 200.00 200.00 200.00 200.00 es 180.00 n.04/27.	600.00 600.00 200.00 400.00	
000620 001098 001098 001098 Senior Project 000727 000727	6 - Bathe, Cody 6 - Odreman, Gabriel Project status review 6 - Odreman, Gabriel Meeting with Ike to gove 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	6/10/2021 5/18/2021 5/24/2021 r project status and drivews 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	3.00 1.00 2.00 ays 2.00 hers for DW slop 1.00 as meeting held of	200.00 200.00 200.00 200.00 es 180.00 n 04/27.	600.00 200.00 400.00 400.00	
001098 001098 001098 Senior Project 000727 000727	6 - Odreman, Gabriel Project status review 6 - Odreman, Gabriel Meeting with Ike to gove 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	5/18/2021 5/24/2021 r project status and driveware 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly status 5/4/2021 arding latest plans and Cen	1.00 2.00 ays 2.00 ners for DW slop 1.00 as meeting held of 1.00	200.00 200.00 200.00 es 180.00 n 04/27.	200.00 400.00 400.00	
001098 001098 Senior Project 000727 000727	Project status review 6 - Odreman, Gabriel Meeting with Ike to gove 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	5/24/2021 r project status and driveware 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	2.00 ays 2.00 ners for DW slop 1.00 as meeting held of	200.00 200.00 es 180.00 n 04/27.	400.00 400.00	
001098 Senior Project 000727 000727	6 - Odreman, Gabriel Meeting with Ike to gover 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	r project status and drivews 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	2.00 ners for DW slop 1.00 as meeting held of	200.00 es 180.00 n 04/27.	400.00	
001098 Senior Project 000727 000727	6 - Odreman, Gabriel Meeting with Ike to gover 6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	r project status and drivews 6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	2.00 ners for DW slop 1.00 as meeting held of	200.00 es 180.00 n 04/27.	400.00	
001098 Senior Project 000727 000727	6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regr 7 - Fung, Raul Revision of sheets for IH	6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	2.00 hers for DW slop 1.00 as meeting held of 1.00	180.00 n 04/27.		
Senior Project 000727 000727 000727	6 - Odreman, Gabriel Update on meeting with of Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regr 7 - Fung, Raul Revision of sheets for IH	6/10/2021 commential/residential owr 4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	2.00 hers for DW slop 1.00 as meeting held of 1.00	180.00 n 04/27.		
Senior Project 000727 000727 000727	Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regr 7 - Fung, Raul Revision of sheets for IH	4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	1.00 s meeting held o	180.00 n 04/27.	180.00	
000727	Engineer 7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regr 7 - Fung, Raul Revision of sheets for IH	4/29/2021 ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	1.00 s meeting held o	180.00 n 04/27.	180.00	
000727	7 - Fung, Raul Follow up with action iter 7 - Fung, Raul Follow up with EJES regi 7 - Fung, Raul Revision of sheets for IH	ms from FBC weekly statu 5/4/2021 arding latest plans and Cen	s meeting held o	n 04/27.	180.00	
000727	Follow up with action iter 7 - Fung, Raul Follow up with EJES regi 7 - Fung, Raul Revision of sheets for IH	5/4/2021 arding latest plans and Cen	1.00			
000727	7 - Fung, Raul Follow up with EJES rega 7 - Fung, Raul Revision of sheets for IH	5/4/2021 arding latest plans and Cen	1.00			
000727	Follow up with EJES region 7 - Fung, Raul Revision of sheets for IH	arding latest plans and Cen	terpoint ID numi	*****	180.00	
	7 - Fung, Raul Revision of sheets for IH			ber.		
	Revision of sheets for IH		2.00	180.00	360.00	
100727	budget. Contacted EJES t	10 Ramo Reversal Project	#7933. No rema	aining		
100727		to discuss project progress	and uplosad of p	lans in		
100727	regards to Centerpoint rel					
,,,,,,,	7 - Fung, Raul	5/12/2021	3.00	180.00	540.00	
		with FBC and RPS (ABC)				
	plan sheets pertaining to	this property. Discussed re	ow taking with C	ody B., also		
	discussed existing row wi	idth and scurrent urvey dat	a shoewn in shee	ets. Prepared		
	Daycare.	tual meeting held this mor	ning with FBC a	ilu ABC		
00727	7 - Fung, Raul	5/13/2021	2.00	180.00	360.00	
100121		ng survey information in A			500.00	
		d images for row information				
	regarding updates to drive					
000727	7 - Fung, Raul	5/17/2021	1.00	180.00	180.00	
	Conference call with Yvo	onne Y. regarding informat	ion requested by	FBC (MS		
	project data).	, ,				
000727	7 - Fung, Raul	5/19/2021	2.00	180.00	360.00	
	Follow up with EJES in r	egards to driveway slopes	(6% vs. 10%).			
000727	7 - Fung, Raul	5/20/2021	1.00	180.00	180.00	
	Discussed with Aaron H.	regarding driveway update	es (6% vs. 10% s	lopes).		
000727	7 - Fung, Raul	5/21/2021	1,00	180.00	180.00	
	Contacted EJES regardin	g driveway updates (6% vs	s. 10% slopes), d	iscussed		
	property owner informati	ion, contacted Cody B. rega	arding meeting c	oordination		
	with property owners.					
000727	7 - Fung, Raul	5/24/2021	2.00	180.00	360.00	
		ts in regards to 6% vs. 10%				
	_	ents, discussed design info	rmatiion such as	arivweway		
	types and radius.		2.00	190.00	360.00	
000727	7 - Fung, Raul	5/25/2021	2.00	180.00	300.00	
		ES to discuss updated cross R11. Discussed with Cody				
		veway slopes in their prope		aporty		
000727	7 - Fung, Raul	5/26/2021	2.00	180.00	360.00	
	Ç,	g driveway slopes (6% vs.				
	and responses to FBC rev		- , - , , 2 - 2 1 20 11 00	r		
000727	7 - Fung, Raul	5/27/2021	1.00	180.00	180.00	
u was side t	3.	garding driveway slopes (69				
		ng coordination with prope				
	driveway slopes.	C x F	•	•		
000727	7 - Fung, Raul	5/28/2021	1.00	180.00	180.00	
	-	arding driveway slopes (69	% vs. 10%). Revi	iewed		

Project	007677	Fort Bend County Mobi	lity2017		Invoice	621001
000727	7 - Fung, Raul	6/1/2021	2.00	180,00	360.00	
	Conference call with E. discussed responses to vs. 10%).	JES regarding TCE exhibits FBC review comments in re	for driveways. A	Also y slopes (6%		
000727	7 - Fung, Raul	6/2/2021	1.00	180.00	180.00	
	Follow up on action ite	ms and tasks from microsoft egarding Centerpoint reloca	planner. Researtions.	ched for		
000727	7 - Fung, Raul	6/3/2021	1.00	180.00	180.00	
	Responded to EJES inquired action items and tasks to	uiry regarding constructiion from microsoft planner.	timeframe. Follo	ow up on		
000727	7 - Fung, Raul	6/4/2021	1.00	180.00	180.00	
	Follow up on action ite progress of remaining of	ms and tasks from microsoft driveway layouts being prepa	ared by EJES.			
000727	7 - Fung, Raul	6/7/2021	2.00	180.00	360.00	
	Centerpoint pole reloca	ling remaining pdf exhibit foutions. Contacted Master's Vin regards to driveway slopes.	'essel Mnistries (property		
000727	7 - Fung, Raul	6/8/2021	3.00	180.00	540.00	
	(pdf was sent by EJES)	I pdf exhibit for remaining d Prepared email response to the lope issues. Follow up with I	o Ike A. from FE	C in regards		
000727	7 - Fung, Raul	6/9/2021	2.00	180.00	360.00	
	Discussed with Cody E property owner (drivey	 in regards to driveway exh vays L)\$ and L05) 	libits prior to me	eting with		
000727	7 - Fung, Raul	6/10/2021	1.00	180.00	180.00	
	with slope issues). Disc	JES regarding driveway exh cussed with Cody B. in regar ty owner (driveways R08 and t pole relocatiions.	rds to driveway e	xhibits prior		
000727	7 - Fung, Raul	6/11/2021	1.00	180.00	180.00	
	Follow up with Cody I driveways with slope in	3. regading meetings with pr ssues.	operty owners in	regards to		
Associate 1	Engineer					
001175	9 - Edwards, Katlyn	5/24/2021	3.00	125.00	375.00	
	put together TCE agree			185.00	105.00	
001175	9 - Edwards, Katlyn	6/9/2021	1.00	125.00	125.00	
	revised TCE agreemen	its			4.4.00.00	
	Totals		76.00		14,180.00	14 100 00
	Total Labor	r				14,180.00
						\$14,180.00

			Hours	Rate	Amount
Project Mana	iger				
000620	6 - Bathe, Cody	4/28/2021	3.00	200.00	600.00
000620	6 - Bathe, Cody	4/29/2021	4.00	200.00	800.00
000620	6 - Bathe, Cody	5/3/2021	2.00	200.00	400.00
	Reached out to frontier schedule for adjustmen	to check the status of their of	design plans in a	relocation	
000620	6 - Bathe, Cody	5/4/2021	4.00	200.00	800.00
	Reviewed information:	from design consultant regar	rding utilities and	l submittals	
000620	6 - Bathe, Cody	5/12/2021	4.00	200.00	800.00
	Review information fro for the project and reloc	m the utilities and design co cations	onsultant regardir	ng the utilities	
000620	6 - Bathe, Cody	5/25/2021	2.00	200.00	400.00
000620	6 - Bathe, Cody	5/26/2021	4.00	200.00	800.00
000620	6 - Bathe, Cody	6/2/2021	3.00	200.00	600.00
000620	6 - Bathe, Cody	6/9/2021	4.00	200.00	800.00

roject	007677	Fort Bend County Mobili	ty2017		Invoice	621001
00620	6 - Bathe, Cody	6/10/2021	3.00	200.00	600.00	
01098	6 - Odreman, Gabriel	5/4/2021	2.00	200.00	400.00	
	Utility conflict table a	nalysis				
01098	6 - Odreman, Gabriel	5/5/2021	1.00	200.00	200.00	
	Utility conflict table a	nalysis				
01098	6 - Odreman, Gabriel	6/10/2021	1.00	200.00	200.00	
	dgn files for ROW do	cumentation for Sandy				
enior Projec	ct Engineer	-			•	
00727	7 - Fung, Raul	4/28/2021	3.00	180.00	540.00	
	submitted by CobbFe	on utility permit. Review of up ndley, discussed findings with of l of environmental proposal (by	Cody B. Discu	ssed with		
00727	7 - Fung, Raul	4/29/2021	1.00	180.00	180.00	
		items from FBC weekly status	meeting held	on 04/27.		
	Review of current dat	es shown in mobility schedule.	_			
00727	7 - Fung, Raul	5/3/2021	3.00	180.00	540.00	
	SW3P statement and	nual review comments and sent certifications needed to be inclu 10 submitted by CobbFendley.	ided in manual	. Received		
00727	7 - Fung, Raul	5/4/2021	3.00	180.00	540.00	
	table. Discussed with with Ryan H. regardi	CobbFendley regarding project Cody B. regarding utlity confl in invoices 8 and 9 previously regarding approval of environm	ict information submitted by C	Discussed obbFendley.		
00727	7 - Fung, Raul	5/5/2021	2.00	180.00	360.00	
	manual, utility confli-	ewed updated files submitted be to table, utility contact table. For approval, reviewed amounts be andley.	ollow up in rega	ards to voice		
000727	7 - Fung, Raul	5/10/2021	2.00	180.00	360.00	
	Follow up with Ryan	H. regarding invoices 8, 9 and	10 submitted b	У		
		ed numbers shown in invoice c			260.00	
00727	7 - Fung, Raul	5/14/2021	2.00	180.00	360,00	
	discussed incorrect n	version of project manual subm umber in remaining funds colur ng status of invoices 8, 9 and 1	nn in invoice 9	endley, ; informed		
000727	7 - Fung, Raul	5/17/2021	1.00	180.00	180.00	
	Received and review by TLC Engineering.					
000727	7 - Fung, Raul	5/18/2021	2.00	180.00	360.00	
	authorized and remai Yvonne Y. regarding CobbFendley regardi	I spreadsheet (invoicing), discuning amounts. Reviewed latest invoice 9 processing/uploading centerpoint gas information.	; invoices 9 and g. Follow up w	1 10. Contacted ith		
000727	7 - Fung, Raul	5/25/2021	1.00	180.00	180.00	
	Follow up with Cobb gas line crossing.	Fendley regarding pending info	ormation about	Centerpoing		
000727	7 - Fung, Raul	6/1/2021	2.00	180.00	360.00	
	CobbFendley regard:	endely's inquiry about invoices ng pending information regard Reviewed revised form 1295 su ervices.	ing Centerpoint	t gas line		
000727	7 - Fung, Raul	6/4/2021	1.00	180.00	180.00	
		previously submitted by Cobb excel spreadsheet.	Fendley, follow	w up with Ryar		
000727	7 - Fung, Raul	6/7/2021	2.00	180.00	360.00	
•	Finalized review of i	nvoice 10, discussed with Cody	B. payment o	f this invoice.		
	Follow up with Cobl	Fendley regarding Centerpoint	gas parcel info	ormation.		

roject	007677	Fort Bend County Mob	oility2017		Invoice	621001
Associate I	Engineer					
01180	9 - Hurt, Ryan	5/18/2021	1.00	125.00	125.00	
	Updated Invoice spre	ead sheet				
	Totals		63.00		12,025.00	
	Total Lab	or				12,025.00
						\$12,025.00
rofession	al Personnel					
			Hours	Rate	Amount	
roject Ma	nager		110 1110		I	
01098	6 - Odreman, Gabriel	1 6/8/2021	2.00	200.00	400.00	
	Coordination		_,,,		100.00	
ssociate I						
)1175	9 - Edwards, Katlyn	5/25/2021	1.50	125.00	187.50	
	pit together bid tabula		1.50	123.00	107.50	
1175	9 - Edwards, Katlyn	5/26/2021	2.00	125,00	250.00	
		lation and award letter	2.00	123,00	230.00	
0736	20 - Richardson, Mar		2.00	125.00	250.00	
.0100	Finalization of plan s		2.00	143.00	230.00	
0736	20 - Richardson, Mar		2.00	125.00	250.00	
M / 30	Pre bid meeting prepa		2.00	125.00	250.00	
arian1	Pre old meeting prepa	aration and meeting				
lerical 00106	20 Diederiek Die-	4/39/3031	2.50	100.00	250.00	
0100	29 - Diederich, Diana		2.50	100.00	250.00	
	Bid Docs burned to C	עכ	10.00		1 505 50	
	Totals		12.00		1,587.50	
	Total Labo	or				1,587.50
	Total Labe	or				\$1,587.50
	Total Labo	or				1,587.50 \$1,587.50
rofession	Total Labo al Personnel	or				
rofession		or	Hours	Rate	Amount	
oject Ma	al Personnel nager		Hours	Rate	Amount	
oject Ma	a l Personnel nager 6 - Odreman, Gabriel	4/29/2021	Hours 2.00	Rate 200.00	Amount 400.00	
oject Ma	al Personnel nager	4/29/2021				
oject Mar 1098	al Personnel nager 6 - Odreman, Gabriel Data entry for project	4/29/2021				
oject Mar 1098 ssociate E	al Personnel nager 6 - Odreman, Gabriel Data entry for project	4/29/2021 t schedule's				
oject Mar 1098 ssociate E	al Personnel nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices.	2.00	200.00	400.00	
oject Mar 1098 ssociate E 1150	al Personnel nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices.	2.00	200.00	400.00	
oject Mar 1098 ssociate E 1150	al Personnel nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021	2.00	200.00 125.00	400.00	
oject Mar 21098 ssociate E 21150 21150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021	2.00 2.00 1.00	200.00 125.00 125.00	400.00 250.00 125.00	
roject Mar 01098 ssociate E 01150 01150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021	2.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00	
roject Mar 1098 ssociate E 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021	2.00 2.00 1.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00	
roject Mar 1098 ssociate E 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021	2.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00	
roject Mar 1098 ssociate E 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/12/2021	2.00 2.00 1.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00	
roject Mar 01098 ssociate E	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/12/2021	2.00 2.00 1.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00	
roject Mar 1098 ssociate E 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/12/2021 5/13/2021 voices and scheduling	2.00 2.00 1.00 1.00 1.00 2.00	200.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00	
roject Mar 1098 ssociate E 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/13/2021 voices and scheduling 5/17/2021	2.00 2.00 1.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/13/2021 5/13/2021 voices and scheduling 5/17/2021 nvoices	2.00 1.00 1.00 1.00 1.00 2.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in 20 - Younis, Yvonne	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/13/2021 5/13/2021 voices and scheduling 5/17/2021 nvoices 5/18/2021	2.00 2.00 1.00 1.00 1.00 2.00	200.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150	al Personnel nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/13/2021 voices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices	2.00 2.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150	al Personnel nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 voices 5/13/2021 voices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021	2.00 1.00 1.00 1.00 1.00 2.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in 20 - Younis, Yvonne PO agreements and in 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 //oices 5/13/2021 //oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices	2.00 2.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 //oices 5/12/2021 //oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices 5/20/2021	2.00 2.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150 1150 115	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 /oices 5/12/2021 /oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices 5/20/2021 nvoices	2.00 1.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150 1150 1150	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne po agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 //oices 5/12/2021 //oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices 5/20/2021	2.00 2.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 250.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150 1150 115	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne PO agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 /oices 5/12/2021 /oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices 5/20/2021 nvoices 5/24/2021	2.00 2.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	
oject Mar 1098 ssociate E 1150 1150 1150 1150 1150 1150 1150 115	nager 6 - Odreman, Gabriel Data entry for project Engineer 20 - Younis, Yvonne creating budget estim 20 - Younis, Yvonne 20 - Younis, Yvonne 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne training 20 - Younis, Yvonne uploading PO and inv 20 - Younis, Yvonne po agreements and in	4/29/2021 t schedule's 4/28/2021 tate and uploading invoices. 5/3/2021 5/6/2021 5/11/2021 /oices 5/12/2021 /oices and scheduling 5/17/2021 nvoices 5/18/2021 nvoices 5/19/2021 nvoices 5/20/2021 nvoices	2.00 1.00 1.00 1.00 1.00 2.00 1.00 1.00	200.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	400.00 250.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00 125.00	

Project	007677	For	rt Bend County Mob	ility2017		Invoice	621001
001150	20 - You	nis, Yvonne	6/1/2021	1.00	125.00	125.00	
	Uploadin	g Documents					
001150	20 - You	nis, Yvonne	6/2/2021	1.00	125.00	125.00	
	Uploadin	g documents					
001150	20 - You	nis, Yvonne	6/3/2021	1.50	125.00	187.50	
	Alice Co	ntract					
001150	20 - You	nis, Yvonne	6/7/2021	1.00	125.00	125.00	
	PO, Invo	ices and Agreements					
001150		nis, Yvonne	6/8/2021	1.00	125.00	125.00	
	PO, Invo	ices and Agreements					
001150		nis, Yvonne	6/9/2021	1.00	125.00	125.00	
	PO, Invo	ices and Agreements					
001150		nis, Yvonne	6/10/2021	1.00	125.00	125.00	
	PO, Invo	ices and Agreements					
001150	20 - You	nis, Yvonne	6/11/2021	1.00	125.00	125.00	
	PO, Invo	ices and Agreements					
		Totals		25.50		3,337.50	
		Total Labor					3,337.50
							\$3,337.50
Reimbu	rsable Expense	es					
Reim Ex	p-Mileage						
EX 0	EX 000000024731 4/29/2021		Zawil, Ahmad / Drop off CDs and Letter to Jamie Kovar office, drove from office then back to the office. / 52.00 miles @ 0.56			29.12	
EX 0	EX 000000024790 5/5/2021		Odreman, Gabriel / Mobility meeting at FBC / Mobility meeting at FBC Office / 61.00 miles @ 0.56			34.16	
EX 0	00000024790	0024790 5/11/2021 Odreman, Gabriel / Pre-Bid Meeting at FBC / Pre-Bid Meeting at FBC office for Ave E. / 62.00 miles @ 0.56				34.72	
EX 0	000000024785 5/13/2021 Griffin, Jonathan / Meeting wi FBC Engineering / 60.00 mile			Meeting with De		33.60	
		Total Reimbursables		1.0 times	131.60	131.60	
							\$131.60
							\$107,420.35
					Total this	Report	\$107,420.35